N 2 0l & AF S E A A
2008 = = 2 3] Letal)
SA: AL D
M AOISHE HEE ZAAL
Col: SEE0 AMHTY JRXX (B9l &9
FAH-FH-SASA) - NRAE - BE=Z Off &F K I8N Hws2
28D 8,294,437 11,440,609 13,146,172
= 560,000 560,000 0
7 409,000 209,000 200,000
Al 2,904,764 2,504,764 400,000
= 4,420,673 8,166,845 13,746,172
AOMSHE HEE TARMM 5,733,195 8,892,895 13,159,700
7 409,000 209,000 200,000
Al 1,634,764 1,034,764 400,000
= 3,689,431 7,449,131 13,759,700
SEHQ UL YOXX 248,334 252,834 14,500
BolMol BaYe XX 34,189 33, 189 4,000
201 ety 1,600 5,600 24,000
01 A= 2telt| 1,600 5,600 4,000
OB S)lasg 23 1,100,000 1,100 1,600 A500
OJNSIIS=EX 2SI o442
3% 200,000 200 3,000 £2,800
OAFFII&E42 2 300,0002 300 1,000 AT00
2 ZRA(=2.518)22 13,255 13,755 A500
201 ety 13,255 13,755 A500
01 A= 22/t 13,135 13,635 2500
OSIIgY L g¢z+42 2 0¥ 0 500 A500
SADIE AlEEE 4,731,628 8,078,628 3,347,000
7 209,000 209,000 0
Al 1,134,764 734,764 400,000
- 3,387,864 7,134,864 3,747,000
SZAIGAPT-2 RIS T2HE 253,000 0 253,000
401 Al&HIL=HY 253,000 0 253,000
03 EXHYI 250,000 0 250,000
ORBAIGAPT-LBISA CEHEBA 250,000 0 250,000
06 Al&=CHHI 3,000 0 3,000
SBAIYAPT-SBISA CEHEBA 3,000 0 3,000
NEEHE BEEE(SML 2SART) HE (2= 50,000 4,050,000 4,000,000
S Ab)
401 AI&HIZSHY 50,000 4,050,000 4,000,000
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DA MOISHE HHE CAAM
Sl SADIBE AIMEE (5l &2
SA-BH.C(BH) - HRAY - B 0ff &+ o4 )= e Rz
03 EXI0HH] 0 4,000,000 4,000,000
Og 2 EXZA 33 0 0 4,000,000 4,000,000
MER SWEI EX L STHEBA 400,000 0 400,000
Al 400,000 0 400,000
401 N&HILLHY 400,000 0 400,000
Al 400,000 0 400,000
04 AZEH] 400,000 0 400,000
OUSEZ STHD SX L STHEBAH
s2ne3) 400,000 0 400,000
Al 400,000 0 400,000
MEALIE TANE =X 227,600 36,300 191,300
= 200,000 0 200,000
2 27,600 36,300 £8,700
SAHE 2y 27,600 36,300 8,700
201 L2yl 2,600 21,300 £8,700
01 At 2teld| 12,600 21,300 8,700
OSAINEQr SYBD 2482
AT 4,400,0002 4,400 8,000 3,600
Oc2ueN s Fuag A3 980,0008 980 1,400 £420
OSANHESIAE &uag
24 2,920,0002 2,920 4,200 A1,280
OSAAETERARE HALY
A3 1,864,0002! 1,864 3,640 A1,776
OBBHAEHS BH2g 33 0 0 1,400 A1,400
OXNYRS EHa+g 4 336,000 336 560 ~224
ADNS TAREI] AEAY KR (AA0S) 200,000 0 200,000
= 200,000 0 200,000
307 eI2t0IH 200,000 0 200,000
= 200,000 0 200,000
02 SIAFAEE 200,000 0 200,000
OMDANS TAIGSI ABAIR X2 (A
H2) 200,000 0 200,000
2 200,000 0 200,000
W CASE Hb 525,633 525, 133 500
Al 500,000 500,000 0
2 25,633 25,133 500
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SA-EFH - SA(SAH) - MREAY - BES Off &F K I8N BlusZ

C2A0 22 2Y 24,853 24,353 500

201 LEHRHH| 4,853 4,353 500

02 =323l 4,453 3,953 500

OstExH(2.58) Z& 4,000,000 4,000 3,500 500

NHAMEHAOl S2&= TSI 2,017,738 2,026,887 A9,149

= 560,000 560,000 0

Al 1,270,000 1,270,000 0

T 187,738 196,887 A9,149

AHMEE =4 2,017,738 2,026,887 A9,149

= 560,000 560,000 0

Al 1,270,000 1,270,000 0

- 187,738 196,887 A9,149

StE R Xl 2eldl 32,218 41,367 A9,149

101 1A 10,517 19,666 A9,149

10 JIZH22ASEF 10,517 19,666 A9,149

Octd R JIZH 22 UHE+ 10,517 19,666 A9,149

— QI 2| ZE 38,1703 x123& »2H 9,390 17,559 A8,169

-IUASRES Z & 9,389,820 *4.5% 423 791 A 368

- NEEEE Z2& 9,389,820 *1.3% 123 229 A 106

- MHEE S 2 & 9,389,820 *3.8% 357 668 A311

—dZdLEE= 2 & 9,389,820& 2.385% 224 419 A 195

2HIARAE=AIE 22 A 700,000 700,000 0

Al 700,000 700,000 0

201 et 680,000 700,000 A20,000

Al 680,000 700,000 220,000

01 At22teld 40,000 30,000 10,000
O=2dd KRAS==AE SX22H

Z & 40,000,000& 40,000 30,000 10,000

Al 40,000 30,000 10,000

02 3Z2=23Hl 640,000 670,000 230,000
O=&d RAESFAIE =2l

Z & 640,000,000 640,000 670,000 230,000

Al 640,000 670,000 230,000

405 XtobESHI 20,000 0 20,000

Al 20,000 0 20,000
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Ao BB ERI(BI) - MIRAY - B S Abod o1& o HIREY
01 L =SESFHSHI 20,000 0 20,000
OLZEIZE FAAMHAALY HUES 7L 20,000 0 20,000
Al 20,000 0 20,000
HE2AHH (AL 292,980 270,303 22,677
A2 195,021 170,044 24,977
A2l 195,021 170,044 24,977
101 el2h] 190,761 165,784 24,977
09 RIAHAZZXES 190,761 165,784 24,977
Osdd= 58,729 50,035 8,694
-Jl2= Z & 43,758,360& 43,759 36,685 7,074
- SR Z2 & 4,990,000& 4,990 4,450 540
- AA ¥+ Z & 3,881,000& 3,881 3,461 420
—JtAIE =4I Z2 & 6,099,000& 6,099 5,439 660
Oaoi= 32,349 27,102 5,247
-J|2= 2 & 13,586,000& 13,586 8,339 5,247
ONE=H 3,655 3,215 440
— B At Z2& 1,704,000& 1,704 1,484 220
—J|Et 23 1,951,000& 1,951 1,731 220
OZF A=A 2% 8,871,000& 8,871 7,911 960
OusE2 x| 28 7,762,000& 7,762 6,922 840
OxlZR=+g 41,341 33,445 7,896
=1 E= Lty Z2E 12,434,850 12,435 10,620 1,815
—ssSF7It==H 23 9,030,800& 9,031 2,950 6,081
O2 4| Z & 5,544,000 5,544 4,044 600
O 2/ S Atdl 23 2,772,000& 2,772 2,472 300
=3l 97,959 100,259 £2,300
Jl=&Hl 97,959 100,259 22,300
202 OdHl 75,320 77,620 22,300
01 =LAl 72,100 74,400 22,300
OZLHN bl Z& 72,100,000 72,100 74,400 A2,300




